Appendix C
ANSWERS

This appendix contains answers (and in some places, only one of several possible answers)
for some of the exercises suggested throughout the book.

Basic Knitted Fabrics:
Alternate Moss Stitch

Here’s the chart again.

12 [ I Tele[ [ TeJe[ [ TeJe] [ Je[e[ [ TeTe]
LT TeTel T TeJe[ T TeJel T TeTe[ T TeTe] 14 1
10 [elel [ TeTe[ [ Te[e[ T TeJe[ [ JeJe[ [ ]
[eTe[ T TeTel [ TeJe[ T [e[eT [ JeTe[ [ ] 9
8 [I Telel [ Je[e[ [ JeJe[ T JeJe[ [ JeTe]
LT Te[e[ T TeJe] [ JeJe[ [ Je[e[ [ [JeJe] 7
6 [elel [ Te[e[ [ TeTe[ [ JeJe[ [ Tee[ T ]
(e [ TeTJe[ [ TeJe[ T JeJeT [ JeJe[ [ ] S
4 [T TeJe[ [ JeJe[ T JeJe[ T TeJe[ T TeTe]
C T TeTel T TeJe[ [ Je[e[ [ TeTe] T TeJe] 3
2 [eTeT T TeTel T TeTe[ [ TeJe] T TeTe] T ]
[eJel T TeTel [ TeTe[ T TeTel T TeTe[ T ] 1

The first two rows of alternate moss stitch are exactly the same as for 2x2 ribbing, then
we “break’ the 2x2 ribbing by moving the pattern over two stitches for two rows.

Here are just a few ways to write out the instructions for the swatch.

Most Explicit

CO 20.

Row 1 (RS): * K2, P2 %, rpt btw * across.
Row 2 (WS): * K2, P2 *, rpt btw * across.
Row &: * P2, K2 %, rpt btw * acrose.

Row 4: * P2, K2 %, rpt btw * across.

Rpt rows 1-4 2 more times.

BO.
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Slightly Simplified

CO 20.

Row 1 (RS): * K2, P2 %, rpt btw * across.
Row 2 (WS): Rpt row 1.

Row &: * P2, K2 %, rpt btw * acrose.
Row 4: Rpt row 3.

Rpt rows 1-4 2 more times.

BO.

Very Compact

CO 20.
Rows 1(RS) and 2 (WS): * K2, P2, rpt btw * across.
Rows 3—4: * P2, K2 %, rpt btw * across.

Rpt rows 1—-4 2 more times.
BO.

Slightly Cryptic?

CO 20.

Row 1 (RS): * K2, P2 %, rpt btw * across.

Row 2 and all WS rows: Work the sts as they present themselves.
Row &: * P2, K2 %, rpt btw * acrose.

Rpt rows -4 2 more times.

BO.

Cables and Twists:
Upside-Down Braid

The chart reverses the directions of the cable crossings in Braid.

4T T T T T
——T1T113
2T T T TT]
LT~~~ 1
all I T 171
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Answers C-3

UPSIDE-DOWN BRAID

multiple of ©

C4R: sl 2 sts to cn and hold to back, K2, K2 from c¢n
C4L: sl 2 sts to cn and hold to front, K2, K2 from cn

Foundation row A and all WS rows: P.
Row 1 (RS): C4L, K2.

Row 2: K2, C4R.

Rpt rows 1-4.

These instructions are for traditional knitters. How would they have to be rewritten for
MIKs?

Project Aran Sampler:
Least Common Multiple

The exercise was to figure out the least common multiple for patterns that are six, ten, four-
teen, and twenty-two rows tall (ignoring any and all foundation rows in any pattern).

If we put those numbers into an Internet least-common-multiple calculator, we would
find out instantly that to create a project chart that had complete copies of all four patterns
with no gaps anywhere, we would need a chart with...2,310 rows! We’d need 385 repeats of
the six-row pattern, 231 of the ten-row pattern, 165 of the fourteen-row pattern, and 105 of
the twenty-two-row pattern.

Tweaking a Chart:
Eight-by-Eight Basket-Weave

Here’s the chart.
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24 [T T T T T T I T T I T I T T I T T T T T T T I T T T T I T I I I I IO
(T T T T T T T T T T T T T T T T TTTTITTTTITITTITTITITTITITITIOIT] 23
22 [eTeTeTel T [ T TeJeJeJeJeTeJele] [ | | [e[e[eeJe[ele]e] | [ | Je[eJeJe]
[eTeTeTeT T T T [eTeJeJeJeTeJeJe] [ [ | JeJe[e[eJeJefefe] [ | | JeJefe]e] 21
20 [eTeTeTeT T [ T TeJeJeTeJeTeJeTe] [ T | [e[e[eJeJe[eoJe] | [ | Je[eJeTe]
[eTeTeTeT T T [ JeJeJeJeJeJeJeJe] [ | [ [e[e[e[e[eeee] [ [ | [eelee] 19O
18 [eJeTelel T T T JeJeJeJeTeJeJoTe] [ | | [e[eJeJeJeoJeJe] [ | | [eJe[e]e]
[eTeTeTel T T T JeJeJe[eJe[eJeJe] [ [ | [e[e[eJeJeJeJeJe] [ [ [ [e[e[e[e] 1417
16 [eJelelel T T T TeJeJeJeTe[eJeTe] [ | | [e[eJeJeJeoeJeJe] [ | | [e[eJe]e]
[eTeJeJel T T [ JeJe[eJeJeJeJeJe] [ [ [ [e[e[e[e[eJe[e[e] [ [ [ [e[eee] 4185
149 T T T T T T T T T T ITIT T T T TITTITTTITTITTITTITTTITTITTITTITTITTITTTITTITTITITI]
(T T T T T T T T T T T T T T T T T T T T TTTITITITTITTITTITTITTITITI] 13
12 (T T T T T T T I T T T T T T T T T T T T T T T I T T I T I T TITIT T I
CT T T T T T T T T T T T T TITTTTTTTITITTITITITTTITTITTITTITITTITITITI] 11
10 [T TeTeTeTeTeleTeTel T [ I Je[e[eJeJefeJele] [ | | [e[eJe[eJe[ele]e] T |
[T TeTeTeTeJeTeTeTe] [ [ | [e[e[e[e[eJeeJe] [ | | [e[eeJe[efeJe]e] [ | O
8 [T TeTeTeTeJeJeTele] [ [ | JeJeJeJefeJeJee] [ | | [e[eJeJe[eeJe]e] [ ]
[T JeJe[eJeJeJe[eJe] [ [ [ [e[eJeJe[e[eJeJe[ [ [ [ [e[e[e[eJeJeJeJe] [ | 7
6 [T TeleTeleJeTeleJe] T [ | Je[e[eeJeJee[e] [ | | [e[e[e[e[efeJe]e] [ ]
[T TeTeTeJeTeToeTeTe] [ | | [e[eJeJeJeJe[e[e] [ [ | [e[eJeJeJe[ee]e] [ | §
4 [ Je[eJeJeJeTeJeJe[ [ [ [ [e[eJe[e[eTeJeJe] [ [ [ [e[e[eJeJeJeTeTe] [ |
CT TeTeTeTeTeTeleTel T T | [eJeJeJeJeJeJeJe] | | | Je[eJeJelefee]e] [ ]| 3
2 [T T T T T T T I T T T T T T T T T T T T T T T T T T TITT T T T I I I 1]
T T T T T T T T T T T T T T T T T T TITTITTITITTITITTITTITTITTITTITITITITTIT] 1
m34|33|32|31|30|§|28|27|2§'E|24I23|22|21|20|19|18|17|16|15|14|13|12|11 [10]9|8]|7]6[5]4]3][2]1]

We use the standard procedure from “Finding the Pattern Repeat,” and we can also
make a version that omits partial blocks on the rows of offset blocks.
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Answers
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If we wanted to end a project with a row of original blocks using either version of the

chart, we would repeat rows one through twelve as the plus rows after working the twenty-

four chart rows as often as desired.

Changing a Motif to an All-Over Pattern:

Variations on Interlocking Diamonds

In the chapter, we rearranged the placement of the purl diamond motif in two ways that

took advantage of its diagonal shape. The suggested exercise was to create pattern repeat

charts for both those variations as well as charts that avoided partial motifs on all four edges.

For all these variations, we’ll use the procedure outlined in “Finding the Pattern Repeat.”

The Hiccup Variation

The first variation had the diamonds positioned so that there were hiccups as we followed,

say, the upper-left edge of a diamond from the bottom left corner of the chart upward and

to the right.
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[T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tef TeT T T T T Tef TeT T T T T Tel TeT T T T T Tef TeT T T T T Tel Tel T T
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
(el T TeT T TeT TeT T TeT T TeT TeJ T TeT T TeJ TeT T TeT T TeT TeJ T TeT T Tef TeT T TeT T TeJ TeT T TeT T TeJ TeT T TeJ T TeJ TeJ T TeT T TeT
[T TeT TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T TeT TeJ T TeT T TeT TeT T TeT T TeT TeT T TeJ T TeJ TeT T Te
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T T T T T TeT TeT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tef TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T Tel TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T Te
[T T TeT T TeT TeT T TeT T Tel TeT T TeT T TeT TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT
[TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T Tel TeT T T T T Tef TeT T T T T Tel Tel T T
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T Tel T T TeT T T TeT T T TeT T
[T T TeT T TeT TeT T TeT T TeT TeJ T TeT T TeT TeT T TeT T TeT TeT T e T TeT TeT T TeT T TeJ TeT T TeJ T TeT TeJ T TeJ T TeJ TeT T TeT T TeT
[T Tel TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T Tef TeJ T TeT T Tef TeT T TeJ T TeJ TeJ T TeJ T TeJ TeJ T TeJ T TeJ TeT T TeJ T TeJ TeT T Te
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[eT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tl TeT T T T T Tel TeT T T T T TeT TeT T T T T TeT
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeJ TeT T Te
[T T TeT T TeT TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T TeT TeT T TeT T Te TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT
[TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T TeT TeT T T T T Te TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T Te[ T T TeT T T TeT T T TeT T
[T T TeT T TeT TeT T TeT T TeT Tel T TeT T TeT TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT
[T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Tef TeT T TeT T Tef TeT T TeJ T TeJ TeJ T TeJ T TeJ TeJ T TeT T TeT TeT T TeJ T TeJ TeJ T Te
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T Tel T T TeT T T TeT T T TeT T
[eT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T TeT TeT T T T T Tel TeT T T T T Tel TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T TeT TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T TeT TeJ T TeT T TeT TeT T TeT T TeT TeT T TeJ T TeJ TeT T Te
[T T TeT T Tel TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT
[TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T T TeT T TeT TeT T TeT T Tel TeT T TeT T TeT TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT
[T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Te TeT T TeT T Te TeT T TeT T TeT TeT T TeT T Te TeT T TeT T Te TeT T TeT T Tel TeT T Te
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T Tef T T TeT T T TeT T T TeT T
[eT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T TeT
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T Tel TeT T TeT T TeT TeT T TeT T TeJ TeT T TeT T Tef TeJ T TeT T Tef TeT T TeJ T TeJ TeJ T TeJ T TeJ TeJ T TeJ T TeJ TeT T TeJ T TeJ TeT T Te
[T T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T Te TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T T T TeT TeT T T
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T T TeT T TeT TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T TeT TeT T TeT T Te TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT
[T TeT TeT T TeT T TeT TeT T TeT T Tel TeT T TeT T Tel TeT T TeT T Te TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T Te
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[eT T T T T Tel TeT T T T T Tel TeT T T T T Tel TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T Tef TeT T T T T TeT
[TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T
[T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Tef TeT T TeT T Tef TeT T TeJ T TeJ TeJ T TeJ T TeJ TeJ T TeT T TeT TeT T TeJ T TeJ TeJ T Te
[T T TeT T TeT TeT T TeT T TeT TeT T TeT T TeT TeT T TeT T Te TeT T Te[ T TeT Te[ T TeT T Te TeT T TeT T Te JeT [ JeJ T e JeJ T Te T TeT
[ TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T T TeT T

Charts for the Hiccup Version

Since the diamond motif is our design element, we’ll choose to have a whole diamond in the
pattern repeat.’ Note that we’ve left a knit stitch to the right of the right corner and below
the bottom corner of the complete diamond.

! There ate lots of ways to chart the pattern repeats for these two vatiations, including the alternative positions
of plus stitches and rows. Other possible pattern repeats would not have a complete diamond in the repeat it-
self. All these variations would in turn require their own particular sets of plus stitches and rows.
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(T TeT TeT T 1]
[Tel T T TeT 1]
T T TeT T Tel ]
(T Tel [T T Te]
CTel T T Tel 1]
T T T T T TeT]
[TeT T T TeT 1]
[T TeT [T T Te]
[T T TeT T Tel |
CTeT T T TeT 171

W o N O

N B OO 0 O

Here are copies of the pattern repeat in a table with several columns and lots of rows,
just so we can double-check that the pattern repeat is correct.

L1 Tel Tel T T T Tel Tel T T JL T Tel Tel T T LT Tef Tef T T L T Tef Tel T T 1|
[ Tel [ T Tef T [ Tel T T Tef T J[ [of T [ Jel T J|[ Tel T [ Tef T J[ Tef [ T Te] [ |
(o] T Tel T Tef f[eT T Tel T Tef J[e] T Tef T TeJ J[ef T Jof T TeJ J[e] T JeI T JeJ |
LI Tel Tel [ Jef[ T Tel Tof T Te][ T Tef Jel T Tel[ T Jof [ef T Te|[ T e Te[ T Je]
L Tel T T Tel T CTel T T JTel T JC Tef T [ Jel T JCTel T T TeT T [ TeT T T Te] T |
(el T T T T ol el T T T T Tel J[ef T T T T Tel Jfel T T T T Te J[eT T T T T e |
[ Iel [ T Tef T [ Tel T T Tef T J[ [ef T [ Jel T I Tel T [ Tef T | Tef [ T Te] [ |
LI Tl Tel [ Jel T Tef Tof T TeJ[ T Tef [of T el T Jof Tef T e [ T e Te[ [ Je]
(e T Tel T Tef f[ef T Tel T Tef J[e] T Tef T TeJ J[e T Tef T Tef J[e] T JeI T JeJ |
[ Tel [ T Tef T [ Tel T T Tef T J[ [of T [ Jel T J|[ Tel T [ Tef T | Tef [ T Te] [ |
LT Tl Tel T T T Tel Tel T T JC T Tef Tel T T JC T Tof Tef T T LT Tef Tel T T 1

| | | | |

| | | | |

L Tel T T Tel T [ Tel T T Tel T J[ Tel T T Tel T N[ Tol T T Tel T | Tel T T Tef ]

(el [ Toef [ Jef [[[ef | Jof | Jef [[ef | o] | Jef f[e] | Jof [ Jof Jfe] | [ef [ Je]

LI [e] o] | Jef[ | Jof fe] | Jof | Jof [ef | Jeff [ Jof [e] [ Jeff | Jof Jef [ Je]
L Tel T T Tef T [ Tef T T Tel T J[ Jef T T Tef T N[ Tof [ T Tel T J[ Tof T [ Te [ |
(el [ T T T Jef Jfef T T T | Jof Jlef T [ T T Tof |j[ef T T [ | Jef ffef T T [ T [ef |
L Tel T T Tel T [ Tel T T Tel T J[ Tel T T Tel T N[ Tof T T Tel T J[ Tel T [ Tel T |
LI Jel Te[ [ Tef[ T Tof [ef | [ef[ [ Jof Jof T TeJ[ [ Jof el [ Jef[ | Jof Jef [ [e]
(o] T Tel T Jel f[e T Tel T Te] J[e] T Tel T Tel (el T Jel T TeJ J[e] T Je] T Tel |
L Tel T T Tel T [ Tel T T Tel T J[ Tel T T Tel T N[ Tel T T Tel T | Tel T T Tef ]
LI Tel Tel T T LT Tof Tof [ T | I Tof Tof T | J[ T Tof Jef [ T J{ | el Jef [ |
L Tel T T Jef T J[[ Tef T [ Joef [ [ fof [ | Tof | J[ Jef [ | Joef | J[ Jef [ | fe] |
(ol [ Tel [ Jef f[ef T Jef T Te] J[ef [ Jof [ Jol J[of [ Jof [ Jef [[e] T Je] T Je]
L] [ef Te] | Tef[[ T Jof fef | Jef I Jof [of | Jefl | Jof [ef [ Jef[ | Jof Jef [ Je]
L Tel T T Tel T [ Tel T T Tel T J[ Tel T T Tel T N[ Tof T T Tel T J[ Tel T [ Tel T |
(el T T T T Jef fj[ef T T T T Tef J[ef T T T T Tol J(ef T [ T T [ef J[ef T T [ T el |
CTel T T Tel T [ Tel T T Tel T JL Tel T T Tel T I Tel T T Tel T | Tel T T Tel T |
LI Tel Tel [ Tef[ T Tol Tel T TeJ[ T Tef Je[ T TeJ[ T Je] Te[ [ Tef[ T Tef Jef T Te]
(el [ Tef | Jef [[ef | Jof | Jof [[ef | [of | Jef |[ef | o] | fef [fe] | Jof | [ef |
L Tel T T JTef T J[ Tof T [ Joef T JL fof [ | Tof | |l ol [ | Jof | || [of [ ] Jof | |

If we want the left edge to match the right edge, so that we have a knit stitch to the left
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of the left point of the left-most diamond to match the one to the right of the right-most di-
amond’s right point, then we need to add a plus stitch. The blank column indicates the
boundary of the stitch repeat, one of the charting options we’ve used elsewhere.

100 |CIIeI TeT T 1
O eI ITTTITT19
8] LT Tel[ T Tel]
o] L IelTelTTe]7
60 [IeL T T Tel T
O LI TITTITeI15
4] [T T T TeT T
o] LTIl TeIT T3
20 [T I TeT T TeT ]
O] [T T T TeTT11

Variation for Whole Diamonds Only

For a version that has only whole diamonds, so that there are no partial diamonds on any of
the edges, we need a chart with plus stitches and rows, just like we did in the first basket-
weave variation. For complete symmetry, we’ll make the top row of diamonds be the same
as the bottom row.
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COCI T I T T TIT1T] [IIITTTIT1T] [IIITTTIT1]29
28 JCT T TeI T T T CILTITTeITTT]1 [CITTeILTTT]
CICT Tl TeI T T ] [CITIelTel T T [ITIeITIeITT1T127
26 ]Il T T TeI T ] |[[TeT T T TelT] |[CTeLTTTelT]
OO T T T T Tel ] [ITTITTTIer] [IIITTTIr]25
24 JTeT T T Tel T ] |[TeT T T TelT] |[CTeLTTTelT]
CJCTTel TeT T Te] [T TeITelTTe] [CIIITITT123
22 0L T Tel T TeT ] [P T Tel T Tel] |[CL T TeI T TT]
COCT T T T TeT T [CIeLTTTeIT] [I-ITTITTIT121
200 T T TeT 1711 o] [o CIr el T T T 1]
OCL T T Tel 1] el T T Tel I CIeIT T TTITT119
180T T TeT T TeT ] [T T Tel T TelI T [ Tel T T T
EEEOEOEED [ Tel Tel T Te] [CT TeI TeITT117
16T T T TeT 11 [eT T T TeT 1 CTel T T TeT T ]
COCT T T T T Tel ] LT T T T Tel CITTITTT1T115
14T T T Tl 1] el T T eI 1 CIel T T Tl 1]
CJCT TeT TeT T Te] [ el Jel T Je] T TeITeITT113
120 LT TeIL T Tel ] L LTl T Tel T T TeT T T 11
] I I O Y I [T T T e 1 CTeT T TTTT1T111
100 TTTeIT T 1T ] [CITTIelTelTT] [ITTIeIITTTT1
COCT T I T TeI T ] eI ITTeIT] CIeIITTITTITT]O
ST T IeIT T TelT ] | T TeI T Tel'] LT TeITTT]
CJCT Tel TeI T Te] [T Tel Tel T Te] [[ITTIeITeITTT17
G JCTeT [T IeT T ] [CTeL T T TelT] [IeL T TTelT1]
OO T T T TTer ] CITITTITIer] CIIITTITII]S
AC0CTeT T T TeT T [T T TTeIT1 [T TTTelT]
CJCTTel TeT T T ] [CITTIelTelTT] [ITTIeITTeITTT1T13
200 T TeIT T T T [ITITeITTIT1] [CILITeITTT]
OCL T T T TIT1T1T] OO ILITTITT] COCILIT1TT1TT1T171
XWNVUTSRGQ PONMLIKJILT

The Aligned Variation

The second variation aligned the diamonds’ sides by increasing the horizontal space between
the motifs.

Copyright © 2015-18 by Holly Briscoe
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C-9

This chart uses blank columns and rows to show the boundaries between the pattern re-
peat and both sets of plus stitches and rows; the pattern repeat has the thick border.

The plus stitches are stitches A through H and Q through Y. (Stitch Y was put into its
own table column, which I found easier than adding it to the left of the symbols in every
row of the left edge’s plus stitches.) Rows one through ten and twenty-one through twenty-
nine are the plus rows.
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T T T TelT T T TeT T T T T TeT T T TeT TTTT
[ [ TelT T T T T TeT T T TeT T T T T Tel T T TeT
D Jel Tel T T Tel T T Tef TeT T T Te[ T T TeT TeJ
. . JTel T T Tel TeT T T TeT T T Tel TeT T T TeT T
[ T T TelT T T TeT T T T T TeT T T TeT TTTT
[ T Tl T T T T TeT T T TeT T T T T Tel T T TeT
[ T T TeT T T TeT T T T T TeT T T TeT T T TT
D D Tel T T Tel TelT T T TeT T T Tel TeT T T TeT T
. Jol Tel T T TeT T T Tel Tel T T Tel T T Tel TeT
[ T Tl T T T T TeT T T Tl T T T T Tel T T TeT
T T T TeT T T TeT T T T T TeT T T TeT TTTT
[ T TelT T T T T TeT T T TeT T T T T TeT T T TeT
D Jel Tel T T Tel T T Tef TeT T T Te[ T T TeT TeJ
D D JTel T [ Jel Tel T T Tel T T TeT JTeT T T TeT T
[ T T TelT T T TeT T T T T TeT T T TeT TTTT
[ T Tel T T T T TeT T T TeT T T T T Tel T T TeT
[ T T TeT T T TeT T T T T TeT T T TeT T TTT
D D TeT T T Tel TeT T T TeT T T TeT TeT T T TeT T
. Jel Tel T T Tel T T Tel Tel T T Tel T T Tel TeT
[ T Tl T T T T TeT T T TeT T T T T Tel T T TeT
[ T T TelT T T TeT T T T T TeT T T TeT TTTT
[ T TelT T T T T TeT T T TeT T T T T TelT T T TeT
. [el Tel T T Tel T T Tel Tel T T Tel T T TeT TeT
D D Tel T T Jel TeT T T TeT T [ Tel TeT T T TeT T
T T T TelT T T TeT T T T T TeT T T TeT TTTT
[ [ TelT T T T T TeT T T TeT T T T T Tel T T TeT
I T T TeT T T TeT T T T T TeT T T TeT T T TT
. . JTel T T Tel TeT T T TeT T T Tel TeT T T TeT T
. Jel Tel T T Tel T T Tel Tel T T Tel T T Tel TeT
[ T Tl T T T T TeT T T TeT T T T T Tel T T TeT
[ T T TeT T T TeT T T T T TeT T T TeT T T TT
[ T TelT T T T T TeT T T TeT T T T T Tel T T TeT
. Jol Tel T T TeT T T Tel Tel T T Tel T T Tel TeT
. . [eT T T Tel TeT T T TeT T T TeT Tel T T TeT T
T T T TeT T T TeT T T T T TeT T T TeT TTTT
[ T TelT T T T T TeT T T TeT T T T T TelT T T TeT
T T T TeT T T TeT T T T T TeT T T TeT T TTT
D D JTel T [ Jel Tel T T Tel T [ TeT TeT T T TeT T
. Tel Tel T T Tel T T Tel Tel T T Tel T T Tel TeJ
[ T Tel T T T T TeT T T TeT T T T T Tel T T TeT
[ T T TeT T T TeT T T T T TeT T T TeT T TTT
[ T TeT T T T T TeT T T TeT T T T T TelT T T TeT
. Jel Tel T T Tel T T Tel Tel T T Tel T T Tel TeT
. . [el T T Tel TeT T T TeT T T TeT Tel T T TeT T
[ T T TelT T T TeT T T T T TeT T T TeT TTTT
[ T TelT T T T T TeT T T TeT T T T T TelT T T TeT
[ T T TeT T T Tl T T T T TeT T T TeT TTTT
D D Tel T T Jel TeT T T TeT T [ Tel TeT T T TeT T
Te] Tel Tel T T Tel T T Tel TelT T T Tel T T TeT TeJ

[ T Tel T T T T TeT T T TeT T T T T Tel T T TeT

Here is one possible pattern repeat, which happens to contain a complete diamond.

10O LT TeT T T TeT T
L1 fTel [ T [ [ Jof |
[ Tel T T Te[ T T Te]
el [ [ Jof Jof | ] |

(el [ [ Jef Jof | | |
L lel [ | Je] [ | Jef
L1 fTel [ T [ [ Jof |

W o N ©

GIFIEIDICIBIA
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We can double-check its accuracy by copying it into a table with several columns and lots

of rows.

LT T Tel T T Tef T N T T Tel T T Tel T LT T Tol T T Jel T JL T T Tel T T Tel T LT T Tel T T JeI T ]
LT TelT T T T T Tel T TeT T T T T Tel LT Tel T T T T Tel LT Tl T T T T Tel LT Tel T T T T Tel ]
[ Tel T T Tel T T Tel[ Tel T T Jel T T Tef|[ Tef T T Jel [ T Tel[ Tel T T el T [ Teli[ JeT T T Te] [ T Te]

(e T T Tef Tel T T J[eT [ T Tel Tel T T Jlel T T Tef Tel T T J[e] [ T Tel Tel T T J[ef T [ Te] Te[ T T ]

LT Tel T T T T Tel LT Tof T T T T Tel JL T Tef T T T T Tel JL T Tof T T T T Tel JL T Tel T T T T Tel ]

(e T T Tef Tef] T T J[ef [ T Jel Jel T T J[ef T T Te] Te] T T J[ef [ T Tel Tel [ T J[e] T [ Te] Te] T T ]
L Tel T T JTel T T Tel[ Tel T T Tel T T TeL ToT T T Jel T T TeJ[ Tel T T Tel T T Tef[ ToT T T Jel T T Te]
LT TelT T T T T TeT JCT TeT T T T T Tel LT TelT T T T T Tel JCT Tl T T T T JTelT JL T Tel T T T T Tel ]

LT T Tel T T Tel T LT T Tel T T Tel T LT T Tol T T Tel T JL T T Tel T T Tel T LT T TeT T T Tel T ]

LT Tel T T T T Jel LT Tel T T T T Tel LT Tel T T T T Tel JL T Tel T T T T Jel LT Tel T T T T Te ]
[ Tel T T Jel T T Tel[ Tef T T Tel T T Tefl ToI T T JoI T T Tel[ Tef T T Tel T [ Tef[ o[ T T Jel[ [ T Te]
[ef T T Tef Tel T T J[eT T T Tef Tel T T Jj[el T T Te] Te[ T T J[e] T T Tef Tel T T Ji[e] T T Tef Te] T T ]
LI T Tel T T Tel T LT [ Tel T T Tel T LT T Tol T T Tel T JL T [ Tel T T Tel T JL T T Tol T T Tel T ]
LT Tel T T T T Tel L T Tel T T T T Tel LT Tel T T T [ Tel JL T Tel T T T T Jel L T Tel T T T T Tel |
LT T Tel T T Tefl T LT T Tel T T Tel T LT T Tel T T Tel T JL T T Tel T T Tel T LT T Tef T T eI T ]
[ T T Tef Tel [ T J[eT T T Tef Tel T [ Ji[el T T Te] Te[ T T J[el T T Tef Tel T T Ji[e] T T Tel Te[ T T ]
[ Tel T T Tel T [ Tell TeT T T Tel T T Tef[ Tel T T Jel T T Te][ Tel T T Jel T [ Te|l[ JTeT T T Te] T T Te]
LT Tel T T T T Tel L T Tefl T T T T Tel LT Tel T T T T Tel I T Tel T T T T Jel )L T Tel T T T T Tel |
LT T Tel T T Tel T LT T Tel T T Tel T LT T Tel T T Tel T JL T T Tel T T Tel T LT T Tel T T eI T ]
LT JTel T T T T Jel N[ T Tel T T T T Tel LT JeI T T T T Tel N[ T Tel T T T T Jel L T Tel T T T T Tel |
[ Tel T T Tel T [ Tel[ Tol T T Jel T T Tef|[ Tef T T Jel [ T Tel[ Tel T T Jel T [ Teli[ JTeT T T Te] [ T Te]
[of T T Tef Tel T T (el T T Te Tel T T Jj[el T T Te] Te] T T J[el T T Tef Tel T T Ji[e] T [ Tel Tef T [ ]
LT T Tel T T Tef T N T T Tel T T Tel T LT T Tol T T Jel T JL T T Tel T T Tel T LT T Tel T T JeI T ]
LT TelT T T T T Tel T TeT T T T T Tel LT Tel T T T T Tel LT Tl T T T T Tel LT Tel T T T T Tel ]
LT T Tel T T Tel T N T T Tel T T Tel T LT T Tel T T Jel T JL T T Tel T T Tef] T L T T Tel T T Tel T ]

(e T T Tef Tel T T J[eT T T Tel Tel T T Jlef T T Tef Tel T T J[e] [ T Tel Tel T T J[ef T [ Te] Te[ T T ]

LT Tel T T T T Tel JL T ToT T T T T Tel LT Telf T T T T Tel LT JTof T T T T Tel JL T Tel T T T T Tel ]

If we want the right edge to look like the left, then we could add a plus stitch there. In

this chart, a thick cell border shows the boundary of the stitch repeat.

[T T T T T 1T 19

OEEEDEOEEE Oy

[T I T I T T TI-T 15

Le]

[T eI T T T T TeT |11

KTTHGFEDICE|A]

g 1@ 0 I A X

I EOEEEOEEED B
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Variation with Only Whole Diamonds

If we want whole diamonds only, we again need plus stitches and rows, determined by the
normal method.

(T T T TTTT 717 I ITTITTTTTITTY) [IIITTTTITTTT1T129
28 T T T TeT T T T CILITTTTeITTTTV (I ITTTTelTTT]
LT T Tel TeT T T LT T TeT TeIT T T [CILITTTelTeTTT 127
26 T Tel T T TeT T ] CIL T TeI T T Tel T 1 (I T Tel T T Tel T]
CTeT T T T TTeT ]| [CITeITTTTTel ] [T ITTTTTTeT 1295
24 T Tel T T TeT T ] [CILTTeI' T T Tel T 1 (I T Tel T T Tel T
LT T TeT TeT T T 1| oL T T TelT TeT T T1 [LITTeITeITT123
22T T T TelT T T Tel] CTel T T Tel T T Te] |[Tel T T Tel T T T
CIT T T T T TTeT ] [CITeITTTTTel ) [CITTeITTTTTT]21
20T T T T T TeT T D 0 L1 [ Jel T [ T T 11
LI T T T T [ Jef | | Tel [ T J I Jel [T TeIT TTTTTTI119
18 [T T TeT T T Te] Jel | [ fe] | [ e [ e | | Jef [ T [ |
LI T Je Jef T T | of [ [ Jef Jef [ 1 (el T T Tel TeT T T 117
161 Tel T T eI T] [ 1 Jel [ J Te] | L [ Jel [ [ Jel [ |
L Tel T T T J el | [ Tel T T T T Tel LT TeT TTTTTeT 1195
14 1 JTelT T T Tel T | [ 1 Jel [ J Te] | L[ [ Jel [ [ Jel [ |
LT T Te] Jef T T | of [ [ Jef JTefl T 1 [T T T TeT TeTTT113
12T T T TeT T T Te] [ef T | el T [ Te L Tel T T Jel T T T |
LT T T T T T Tel | [ Tel T T T T Tel LT TeT TTTTTT 111
101 T T T T TelT] [ITITeITTTeIT] [T ITIeITTTTIT]
I T T T T T Tel] [ ITIeITTTTTel] [T IIITTTIT]9
ST T T Tel T T Te] |[ITeL T T eI TTTe] [IeL T T TelTTT]
CT T Tel TeIT T T |[PIL T T TelTel T T [IIT T el TeITT117
G L Iel T T TeIT T 1 [T T Tel T T TelTT] [ILITelTTTTelT]
CIel T T T T Tel ] [T TeI T T T T Tel] [IIeITTITITTeI ]S
AT TeT T T TelT T ] LTI TelTTTelT] [T T Tel T T TelT]
CI T Tel TeT T T 1| I I T TelTelTT] [ITITTeITeIT1T113
20T T eI T T 1] [T IITTTeITTT] |[CIIITTeITTT]
(T T T T T 7T T 7)) T I T TTTTTy LI T TTTTTT11
[29]28|27]26]|25[24]|23|22]| 21| 20]19]18]17]16]15]14[13]12[ 11] 1olo|8l7]el5]4[3]2][1]

Since this variation’s chart has more than twenty-six stitches, it switches from boxed let-
ters to boxed numbers for the stitch labels.

Stitches one through ten and twenty-one through twenty-nine are the plus stitches. Rows
one through ten and twenty-one through twenty-nine are the plus rows.

The pattern repeat, bounded by the thick border, matches the pattern repeat we deter-
mined earlier.
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C-13

But what if we type up the aligned variation’s original pattern repeat (the one without the
plus stitch) slightly differently? The only thing we’ve done in the next chart is substituted the
symbol used elsewhere for a yarnover in place of all the purl symbols that make up the par-
tial diamonds in the corners of the pattern repeat.

10

[ [ Jol | | Jof | |

[ lol T T T | Jo] |

8

f[ol | | Jel | | Jof

ol | | fef Jel J [ ]

ol | | fef Jef J |

W o N ©

6
4
2

fofl | | fel [ | Jo

I
I
I
I
I |
I |
I |
I |
I |
I |

[ lol T T T [ Jo]

T TIHIGIFIEIDICIBA

Let’s copy this chart several times both horizontally and vertically, putting thick borders

between the pattern repeats.

Copyright © 2015-18 by Holly Briscoe
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Repeat 4 Repeat 3 Repeat 2 Repeat 1
LT T Tol T T Jof T [ T Tol T T Jof 1T [ T Tol T T Jol T W T T Jof T T Jof T 1
Ll Toel T 1T 1T 1 Jof [ fol T T T T Jof [ToT T T T T Tol WM TTeIT TTTT ol 129
LTol T T Tel T T Toff JoI T T Tel T T TolW Tol T T Tel T T Jo Jol T T Tel T T TJo]
(ol T I Jef Jef T 1| of [ | Jef Jeof T 1 Ol [ [ [el JTeT T T foT T T TeT JTeIT T T 127
LT T Tel T 1 Jef | L I Te]l T T Tef | [ [ Tel T [ Tel | W T T JTof [ ] Jeof [ |
LT Tel T T T T Tef [ Tel T T T T Tel [ TeT T T T T Tel FTTeT TTTTTel 125
LI T Tel T T Jel I [ T Tel T T Jel 1 [ [ JTel T T Tel T W T T JTof T T Jef T |
ol T T TeT TeT T T WoT T T Tel Tel T T Wol T [ Tel TeIT T T foT T T JTeT TeIT T T 123
LTol T T Tel T T Toff Jol T T Tel [ | Tol Tol [ T JTel T [ Jolf ol [ T Tel [ T Jo]
Ll Toel T 1T 1T 1 Jof [ fol T T T T Jof [ToT T T T T Tol T Tel T TTTTol 121
) ° ) ° ° ° [T T Tol T T Tol T ]
LT Tel T T T T To [ TolT T T T T Tol [ ToT T T T T Tol W TTelT TTTT el 119
Llol [ [ Jel | | o Jlofl [ [ Tel [ | Jo [of [ [ Te] [ [ [off Jol [ [ [e] | | fo]
ol T T TeT TeT T T Wol T T TeT TeT T T Wol T T Tel TeT T [ Wol T [ TeT TeT T T 117
LT T Tel T T Jef | [ I Tel T T Tef | [ [ Tel T [ Tel | H T T Tof T ] Jeol T |
Ll Tel T T T T Jef [ Tel T T T T Jef [ TeT T T T T TeT T TeT TTTTTeT 115
LT T Tel T T Jel 1T [ T Tel T T el 1T [ [ Tel T T Tel T W T T Tof T T Jef T |
ol T T TeT TeT T T WoT T T TeT TeT T T Wol T [ Tel TeT T T foT T T TeT TeT T T 113
LTol T T Tel T T Toff JoI T T Tel [T | Tol Tol [ T Tel T T Jolf Jol T T Tel T T TJo]
LT Tel T T T T To [ TolT T T T T Tol [ TolT T T T T Tol T ToT TTTT TelT 111
° ° ° ° ° ° [T T [ol [ T Jol T]
LT Tel T TT T Tol [ ToT T T T T Tol [ToT T T T T ToeT FTTelT T TTTTel ] ©
LITol T T Tel T T Toff Jol T T Tel [ | Tol Tol [ [ JTel T [ Jolf ol [ T Tel [ T Jo]
(ol T [ feof Tef | | of [ | Jef [e] | | Ol T [ JTel TeT T T foT T T TeT TeI T T 7
LT T Tel T T Tel T [ T Tel T T el T [ T Tel T T Tel T W T T TeT T T Jel T 1
LT Tel T T T T Tef [ Tel T T T T Jef [ TeT T T T T TeT W TTeIT TTTTTeT 1 B
LT T Tel T 1 Jef | L I Te]l T T Tef | [ [ Tel T [ Tel | W T T JTof [ ] Jof [ |
(o T T Tel TeT T T Wol T T Tel Tel T T Wol T T Tel Tel T I Hol T [ TeT JTeIT T T 1 3
Lfol T [ Jel [ | Jolf Jol [ [ Tel [ | Jo Tol [ [ Jel T [ Jolf Jof [ [ [e] [ [ Jo
LT Tel T TT T Tol [ ToT T T T T Tol [ ToT T T T T Tol W T ToeT TTTT TolT 1 14
TOHCFEDCHBAITIHCFED CHBIAITIHCFED CBAIT THCFEDICIEBA]
eosReRTeeEsRREIe2E|edzsRaRsEsRRIR2 2 fd s8R n ol s[s] 76 [5[4]3]2]1]

If we look carefully, we can see that where four copies of the pattern repeat meet one
another (the six places where the thick borders cross), we have full diamonds even where the
stitch symbols have the open circles. The copies of the pattern repeat around the edges of
the project chart, where only two pattern repeats are next to each other either horizontally or
vertically, make only partial diamonds with the open-circle symbols.

We can use these facts to work the pattern repeat in such a way that we don’t have to
have a large chart that shows the plus stitches and rows explicitly (which means, among
other things, that we can use a much larger font size). How?

Reinterpreting the Chart

Since the open circles represent stitches that make only partial motifs, then we work them as
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motif stitches only where the corners of four pattern repeats meet. We would work the open
circles as background stitches anywhere else.

So in the first three rows of the project chart, we have the top portions of five partial di-
amonds (where the open circles are) and the bottom points of four complete diamonds
(where the solid circles are). Since we don’t want partial motifs, then we would work all the
open circles in the first three project rows as background stitches. For the rest of the project,
we would work those same open circles as motif stitches only when the end of one stitch re-
peat is followed by the beginning of another stitch repeat. That means that we always work
the open symbols in project stitches one through three and thirty-seven through forty as
background stitches, never as motif stitches.

In the first full row of diamonds made with open circles, project rows seven through
thirteen, we would work as motif stitches only those open-circle symbols where repeat one
touches repeat two, where repeat two touches repeat three, and where repeat three touches
repeat four. We would work as background stitches the open circles at the beginning of re-
peat one and the end of repeat four, because, again, there is no pattern repeat before repeat
one or after repeat four.

Let’s highlight in a small project chart the open circles that would be worked as back-
ground stitches:
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Repeat 4 Repeat 3 Repeat 2 Repeat 1

LT T Tol T T Jof T [ T Jol T T [of T ¥ T T Jof T T Tof 1 [ T ol T T Jof T 1|
LT Tol T T T T To] [ ToT T T T T Jof W T Toel TTTT Jof [ ToT T T T T ol |29
CTol [ T Tel T T JofL [of [ [ [e] T [ [of Tol [ [ [el [ [ [of [o] [ [ [e] [ [ [o]
(o T T Tel TeT T T Wol T T Te[ TeT T T Wol T [ Tel Tel T | Wol T [ TeT JTeIT T T 127
LT T Tel T T TeT T [ T Tel T T Tel T W T T Tel T T Tel T [ T Tel T T Tel T 1
L[ Tel T T T T Tel [ Tel T T T T JTel W T Tel T T T T Jel [TeT TTTTTeT 25
L[ [ Jel T [ Jef I [ | Jel T | Tel T W T T Tef T T Jef 1 [ I Jel T J Jel T |
ol T T Tel Tel T T fol T T Tel Tel T T Wol T T Tel JTel T T fol T T Tl TeI T T 1123
CIol T T Tel T T Tof Tol T T Tel T T TofL Tol T T TeT T T Joff ToT T T TeI T T To]
LT Tol T T T T To] [ JoTl T T T T Jol W T JoI T T T T To] [ Tol TT T T TJoT |21
T T Jo o o ) o ) ) [o] [ |

[ Tol T T T T To] [ Tol T T T T Jol F T Tol T T T T ToI [JoT T T TTToT J19
CIol T T TeI T T Tof Jol T T Tel T T TofL Tol T T Tel T T Jolf ToT T T TeI T T To]
(O T T Tel Tel T [ Wol T T Te[ Tel T T Wol T T Tel Tel T T Wol T T el TeIT T T 117
LT T Tel T T TeT T [ T Tel T T Tel T W T T Tel T T TeT T [ T Tel T T Tel T 1
LT Tel T T T T Tel [ TeT T T T T Tel W T Tel T T T T Te] [TeT T T TTTeT 115
LI T JTel T T TeJ 1T [ T Tel T T Tel T W T T Tel T J Te 1 [ T Tel T T Tel T |

O [ T Tel TelT T T Wol T T Tel Tel T T Wol T T Tel TeT T T Wol T T JeT TeT T T 113
CIol T T Tel T T Tof Tol T T Tel T T TofL Tol T T Tel T T Tolf ToT T T TeI T T To]
LT Tof T T T T TJo] [ Tol T T T T Jol F T Tol T T T T ToI [ ToT TT T T Tol |11
C T I [o o o 0 o 0 0 [o] | |
LT Tol T T T T To] [ Tol T T T T Jol T Tol T T T T ToI [JoT T T T TTolT ] ©
CIol T T Tel T T Tof Tol T T Tel T T TofL Tol T T el T T Joff ToT T T TeI T T To]
(O T T Tel TeT T T Wol T T Tel Tel T T Wol T T Tel JTeI T T fol T T Te[ TeI T T 1| 7
LT T Tel T T TeT 1T [ T Tel T T Tel T W T T Tel T T Te 1 [ T Tel T T Tel T 1
LT TeT T T T T Tel [ TeT T T T T Tel W T Tel' T T T T Tef [ TeT T T T T TeT I B
LT T Tel T T TeT T [ T Tel T T Tel T W T T Tel T T Tel T [ T Tel T T Tel T 1
ol T T Tel Tel T T Wol T T Tel Tel T T Wol T T Tel Tel T [ fol T T TeT TeI T T 1| 3
[ ol [ | JTel I J [olf [of | | Te] [ | Jofff Tof [ | Te] [ | [olf [of [ | Jel [ [ JoOf
LT Tol T T T T To] [ Tol T T T T Jofl T ol T T T T o] [ Tol TT T T Tol 1 1
T CFEDCBAITIZIHCFEDICBIAITIHCFEDCBA|ITZIHCFIEDICIBIA
40lzozez7Izelzs343332[31)3020l28[27]26]25[24]23[22[ 2120 19[ 18] 17 [ 161514 [13[12[ 11 10 9[8[ 7[6 [ 5[4 [3[2] 1]

The interior symbols with open circles would be worked as motif stitches because when
all the pattern repeats are worked, they’ll form whole diamonds. But the ones around the
edges that would form only partial diamonds would be worked as background stitches.

Note that it is incorrect to say that we “always work stitches A, B, and C as background
stitches.” That statement is true only for the repeats on the bottom and right edges of the
project. In the rest of the pattern repeats, both horizontally and vertically, those stitches
must be worked as motif stitches.

The General Rule

So we can formulate a general rule for pattern charts that show one full and several partial

motifs.
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Answers C-17

If we use a different symbol for all the stitches that make only the partial motifs, then
when we are working the first or last stitch repeat on a project row, we do not work as motif
stitches those that would make partial motifs at the very edges of the piece. They would be
worked as background stitches instead. We work as motif stitches only those that will wind
up making full motifs away from the edges of the piece.

In the same way, when we’re working the row repeat for the first or last time in the
project, we again work as motif stitches only those that form complete motifs in the interior
of the item. We work as background stitches those that would make partial motifs at the bot-
tom or top edges of the project.

Once we understand this idea, then we don’t need such a large chart to show the plus
stitch(es) and row(s) explicitly. We instead change how we interpret the chart while we’re
working at the project’s edges. And once we got used to the idea, we wouldn’t even have to
use a different symbol for the stitches that form only partial motifs in the pattern chart. We
would simply realize, “Oh, at this point in working the project, I won’t be able to make a full
motif, so I'll work these stitches as background stitches instead of as motif stitches.”

In Colorwork

If we want the diamond motif not as purls on stockinette but as knits in a different color
from the background color, this same idea would also work.

Again, the motif stitches around the edges of the project would be worked as the back-
ground color to avoid partial motifs. Those stitches would be worked in the motif color only
when they would form complete motifs with stitches in adjacent pattern repeats.

Did You Notice?

I actually changed the terms from background knits and motif purls to background stitches and
motif stitches in the last few sections.

That’s because the chart is symbolic, and we always have the option of making any of the
symbols mean anything we want in a particular chart. Since we might like colored diamonds
on a project, we can redefine

Ce]

to mean “use the motif color.”
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